ALL DIMENSTONS +/- . OMM UNLESS NOTED

NOTES:
|
!

THTLE: ETI939L/E 1193 7TL-XCWA-X
: DIMENSTONS SHOW ARE FOR ALL TOUCH TECHNOLGIES UNLESS NOTED
BRACKET FINISH X4  SUS 304 NATURAL COLOR (FOR ETI1939L)
BRACKET FINISH X4  BLACK ELECTRODEPOSITTION COATING(FOR ETI937L)
= 415 -— —~———=—— 5 0 FOR
-ACCUTOUCH
-INTELLITTOUCH
-SURFACE CAPACITIVE
@ f © @) © 1 —,
® : > ® | 4
| § 0
000
= (000
| 376 -— i 000
(ACTIVE AREAO) g%
.| ii:wo
o 30 o @)
(ACTIVE AREAO) :
343 @j
308
| ] CENTERING LIP ]
000
000
000
@ © 000
000
Eiow
7 00
i
1 )
® | I, | . V Hl @ y g\\i
] 4 {
® ® ® ® FZW ! :
SEE DETAIL A
BE/EL WITH WIPER BLADE SEAL (CENTERING LIP)
I =)
L
g1 HH/
I N
‘O—><
DETATL A
(CENTERING LIP)
SCALE 2.000

DIMENS TONS ARE

I[N MILLIMETERS/ INCHES

0SD CONTROLS

©@ 00000 oOo / OO0OO0OO0O0O0ODOD0O0Ob0OD0OOO0BOoO
] |
o) ONONONONONONGS) || ‘ ‘ ONONONONONONONONONONORONO) ®
ONONONONON® — s ONONONONONONOHNONONONONO)
@ O O ®
(ONONG) (ONON))
(ONONG) O OO0
(ONONG) O OO0
® O O O OO0
@ O O OO0 D
(ONONG) OO0
©
©
o © o © o0
O O
© © 00
O O
(ONONG) @
© ©
Q00 © © © 6 igg
(ONONG) © © ®
O O O © ©
© O ©
(ONONG) ©
@Og
— UTT__IJTT i
(@] @ (o]
o I 1 H I 1 o
— — — — U
——————— ————
REMOTE OSD
| 2VDC POWER

(REMOTE P/N £E622897

ORDERED SEPERATLY)

— s eocaopese

SERIAL / USB TOUCH
VG A \

m ®

384

CENTERING LIP

SHEET

Or &

ETyco
Electronics

MSS500 736

DATE: 03,Dec,09

REV:. T




PITLE: ETT939L/ETT93 7L - XCWA-X

SECURE TOUCH OPTION (FOR ET1939L ONLY)

[ ® ® ® ® i
® ® =] !
y 00
000
= (oo
i 000
1
J 000
.| 000
EZ
)
® ® ©

]
000
000
000
@ (@) 000
) |oog
Ll
30
)
(@) H|@ j i
Cl° © © ° 17 :
ETyco
Electronics
MSS00 786
DIMENSTONS ARE IN MILLIMETERS/ INCHES SHEET 2 OF & DATE: 03 Dec.09
REV: F




PETLe: ETT939L/ETTI93/L-XCWA-X

IR OPTION (FOR ET1939L ONLY)

© Il
(7
B
_ 000
i
000
000
j Q@M
[ |
000
000
000
000
000
o 000
] me
[y
)
@) 4 © = Il
—e — @\H i
M 1
L L lo) L L
ETyco
Electronics
MSS00 786
DIMENSTONS ARE IN MILLIMETERS/INCHES SHEET 3 OF & |DATE: 03 Dec.09
REV: F




PITLE: ETT939L/ETT93 7L - XCWA-X

: ' ull|
00
_ 000
-
000
000
Ml)
000
000
000
000
Ml)
000
MHJ
JUELE
)
S % j
ETyco
Electronics
MSO00 786
DIMENSTONS ARE |IN MILLIMETERS/INCHES SHEEl 4 OF & [DATE. 03, Dec, 09
REV. F




TITLE:

CIT939L/ETT93 7L -XKCWA-X

LVDS OPTION (FOR ETI939L ONLY)

O0O0O000O0O0 0D0O000000O0O0O0O0 OO
] |
o O0O0000O0 @‘ ® 000 'DW@ OCO0O000000000O0O0 5
O0000O0 = = OCO0O000000O000O0
® O O ®
@ O O 00 ®
oNeRe 000
oNeRe 00 ®
® 00| ® 000
@ O O 00 ®
Q00 00O
©
© OO
00
© 00
oNeRe @ Eig
00O © ©
00
oNeRe ®
Q00 © o
00O © ©
Q00 ©
Q00
ﬁ/(_‘ (]
(@] o
o (0]
ol OILIC I 1T o
| [% e

SEE USER GUIDE

FOR LVDS CONNECTION DETATLS

DIMENS TONS ARE

I[N MILLIMETERS/ INCHES

0
000
000
000
000
000
000

b

00
00
00
00
00

=1

SHEET o OF &

ETyco
Electronics

MSS500 736

DATE: 03,Dec,09

REV:. T




RECOMMENDED CUSTOMER
PANEL CUT-OUT oee wore o

PETLe: ETT939L/ETTI93/L-XCWA-X

- _ NOTE A
bes 10 CUSTOMER PANEL MATERIAL: VESA MOUNT
+ +
I | WOOD: 4.5 HOLES THRU SRR SIDE MOUNT,
. TOR M4 SCREWS W/NUTS ~— 10000 —= e D T T
\ ! OR,NO THRU HOLES, SCREWS o - VERTICAL
R5.00 X4 FOR WOOD @ 4mm —~— /5. 00 —
> SHEET METAL:CONCELED HEAD e e e vy -
| | THREADED STUDS M4 W/NUTS. N 5000000 H messol Og/ooooooooooo ’ | 1
17 ® O ONONONONONGS) O ONONONONONONONONONS O ® 0 o
NOTE B & 00 / 00 ® 100
MONTTOR INCLUDES 2 BRACKETS. 000 500 "
S0 00 el 00 ADDITIONAL BRACKETS AVAILABLE. 300 500 | ]
‘ ‘ ‘ PN EI4T721 ® 00 000 "
@ O O OO 000
NOTEC O O O ONONO) M@/ﬁ EZ
353 70 33 3mm=SECURE TOUCH E | .
1 70.00 33 2mm= IR O @ ©
30. 2mm=APR @\ /> [
@
NOTE D O O o T A
- 38500 +1.0/-0.0 — 5. 9mm=SECURE TOUCH 88 1500 3§ 142 00
5. 8mm= | R 00 100 00 1 |
e + 2. 5mm=APR 00¢ ] 50 L y
O O 00
O O O @ © ©
NOJE ESECURE TOUCH 000 © jo° O Ai ﬁL 8
. omm-= Hno O O 1
| Tmm= IR looo | j
' 5. 0mm=APR | L k C
N J — TN TR ] NI i
. . ' 0 N (A—M‘W 0 1214
o M L“ 0 i 100, 4
L— 170.00 J H .
o] I i T |o -
— I L - — B— '
REAR MOUNT WITH BRACKETS, A
MOUNT ING BRACKET ADJUSTMENT RANGE (SEE NOTE C)
HORIZONTAL AND VERTICAL  sec wore o
(SEE NOTE D) BRACKETS IN HORIZONTAL POSITIONS
304>< ;
A > 0O0O000O0O0O0 @E’@%m éT©©2©©©©©©©©®®
L0 °N\JSe00a0 200000000000 /00
000 & O O [ONONG]
il 000 000 SIDE MOUNT,
009 ® O O OO0
Ll o g 3t S HORIZONTAL
IIl@)J h |
] o7 31.9
) s (SEE NOTE C)
364 00
00
" 000 d OO i
009 ofeNe © © -
00 7®OO © © ) I
332 oo | |
g g )
FE Oﬁ 0 |
0 n | } o \
LD : i [ °ll | \BRACKET IN
T h o| =t i T | VERTICAL POSTIONS
B L —— —— T T
Electronics
- 136 —
MS500786
DIMENS IONS ARE IN MILLIMETERS/ INCHES SHEET 6 OF & PATE: 03,Dec,09
REV. T




PETLe: ETT939L/ETTI93/L-XCWA-X

BLACK ANODIZE FINSH /@jw e FRONT MOUNT OPTION
I P/N E163604
4 N A
. U (ORDERED SEPERATLY CUSTOMER ASSEMBLED)
ﬂ = Ao I
“ 9
O
000
ij@\ @333
382 !
j 000
000
000
. 000
_° oo
oc:

| .| FRONT MOUNT BRACKETS(X4) FRONT MOUNT ASSY
N — “ 1 (INCLUED WITH FRONT MOUNT ASSY)
Bl s
N » |
- ey - FT1939L MONITOR
CUSTOMER PANEL:
FRONT MOUNT BRACKETS ACCOMMODATE
5.0 NOTE: | IF CUSTOMER PANEL MATERIAL IS WOOD: MAX, T4mm MATERTAL THICKNESS
X8 @4.5mm HOLES THRU FOR M4 SCREWS, OR NO THRU L3
- 134 41 0/-0.0 — HOLES, SCREWS FOR WOOD B 4mm. 2.1F CUSTOMER
CUSTOMER PANEL CUT-0OUTH “ “ RIS MAX PANEL MATERTAL IS SHEET METAL: CONCEALED
AND MONTTING HOLES X4 HEAD THREADED STUDS M4 WITH NUTS
| A .
i RN ’ / /
| / - P
i 1 | ~ ° N
OO0 00000 Oo - él©©©©©©©©©©©®©
oN\°555355 B EesewH  355555555555°" :
@00 00® 2
Q0O 000D o
[ONONe] [ONONO0} Q
: ¢ 3t )08 z
‘ (O ! [ONONO] OO0 O}
302 +1.0/-0.0 12 :
392 6 o o\ © 5 |
e o o| 8 |
O O
15000 404 © N 09
7 000 d 00
1l (ONONO] © © O O
' - g%gé © \ ) © O !
1© Q00 )
o H “J L“ (o]
i i ! ] = I H — = |
T v K O O /
—~— [ 50 00 A B T o Electronics
- 164 6 —
MSH00 786
DIMENS TONS ARE IN MILLIMETERS/ INCHES SHEET [/ OF & [DATE: 03 Dec, 09
REV: F




BLACK ANODI/ZE FNSH\

483

TITLE:

CT939L/E T 193 7L - XKCWA-X

(ORDERED SEPERATLY,CUSTOMER ASSEMBLED)

RACK MOUNT OPTION
P/N E579652

266.00

| 46 .

00

399.

465.00

Py @

I[_[dj ceeDeee e

DIMENS TONS ARE

I[N MILLIMETERS/ INCHES

00

349 — = A3~ 5| 4

00
000

|i’| 000

000

ﬂ 000
(i 000
’ij) 000

_
@)

I

000
000
000

N .

000

000
I me

SHEET 8 OF &

ETyco
Electronics

MSS500 736

DATE: 03,Dec,09

RV T




